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Q.1 Select the option that can be used as a one-word substitute for the given group of words.

Something that cannot be avoided
Ans & 1. Inevitable
2. Impossible
3. Irreparable

4. Intolerable

Question ID : 65497829434
Status : Not Answered
Chosen Option : --

Q.2 Select the most appropriate ANTONYM of the given word.

Violent
Ans 1. Delicious

2. Mighty
3. Urgent
« 4. Gentle

Question ID : 65497829433
Status : Not Answered
Chosen Option : --

Q.3 Select the most appropriate synonym of the given word.
Aggregate
Ans 1. Disperse
" 2. Total
3. Separate

4. Divide

Question ID : 65497829439
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate meaning of the given idiom.

On cloud nine
Ans  # 1. Very happy

2. Very angry
3. Very far

4. Very worried

Question ID : 65497829444
Status : Not Answered
Chosen Option : --
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Q.5 Select the option that will improve the underlined part of the given sentence. In case no
improvement is needed, select ‘No improvement required'.

You are going abroad for studies, are you?
Ans 1. No improvement required
2. wasn't you
3.isn'tit

« 4. aren'tyou

Question ID : 65497829437
Status : Not Answered
Chosen Option : --

Q.6 Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

Delhi is a most affected city by the virus nowadays.
Ans 1. Delhi was a most affected

" 2. Delhi is the most affected
3. No substitution required

4. Delhi has a most affected

Question ID : 65497829440
Status : Not Answered
Chosen Option : --

Q.7 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

There is / hardly some / petrol left / in the car.
Ans 1.in the car

2. Thereis
3. petrol left
" 4. hardly some

Question ID : 65497829447
Status : Not Answered
Chosen Option : --

Q.8 Select the option that will improve the underlined part of the given sentence. In case no
improvement is needed, select ‘No improvement required'.

Father asked me that if | will accompany him to the park.
Ans 1. whether | will
2. No improvement required
" 3.if lwould
4. that if | would

Question ID : 65497829445
Status : Not Answered
Chosen Option : --
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Q.9 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

| think / he has / settled / in United States.
Ans 1. settled

4" 2.in United States
3. I'think
4. he has

Question ID : 65497829438
Status : Not Answered
Chosen Option : --

Q.10 Select the option that can be used as a one-word substitute for the given group of words.

Woman who is the head of the family
Ans 1. Patriarch

2. Monogamy
3. Polygamy
«" 4. Matriarch

Question ID : 65497829430
Status : Not Answered
Chosen Option : --

Q.11 Select the most appropriate SYNONYM of the given word.

Erect
Ans 1. Topple

2. Lower
3. Raze
«" 4. Raise

Question ID : 65497829448
Status : Not Answered
Chosen Option : --

Q.12 Select the option that can be used as a one-word substitute for the given group of words.

A steep descent of water of a stream or river
Ans 1. fountain

2. glacier
3. whirlpool
o 4. waterfall

Question ID : 65497829449
Status : Not Answered
Chosen Option : --
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Q.13 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Ajit asked me / how could | solve / the complex puzzle / so easily.

Ans 1. so easily
2. the complex puzzle
3. Ajit asked me
" 4. how could | solve

Question ID : 65497829432
Status : Not Answered
Chosen Option : --

Q.14 Select the most appropriate option to fill in the blank.
The ___ was given a stipend during his period of training.
Ans 1. owner
& 2. intern
3. employer

4. entrant

Question ID : 65497829443
Status : Not Answered
Chosen Option : --

Q.15 Select the most appropriate meaning of the given idiom.

In the long run
Ans  # 1. Eventually

2. On condition
3. Repeatedly

4.1n case

Question ID : 65497829441
Status : Not Answered
Chosen Option : --

Q.16 Select the INCORRECTLY spelt word.
Ans 1. Complaint

2. Worried
« 3. Warior

4. Passenger

Question ID : 65497829435
Status : Not Answered
Chosen Option : --
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Q.17 Select the most appropriate option to fill in the blank.

Two young men the chain from the woman's neck and ran away.

Ans 1. pulled

2. squeezed
3. pushed

4. turned

Question ID : 65497829446
Status : Not Answered
Chosen Option : --

Q.18 Select the most appropriate option to fill in the blank.

There are five members of the United Nations.

Ans 1. forever
2. immortal
3. durable

«" 4. permanent

Question ID : 65497829436
Status : Not Answered
Chosen Option : --

Q.19 Select the INCORRECTLY spelt word.
Ans 1. Vein

2. Quick
3. Certain

" 4. Contein

Question ID : 65497829442
Status : Not Answered
Chosen Option : --

Q.20 Select the most appropriate ANTONYM of the given word.
Mettle
Ans o 1. Cowardice
2. Caution
3. Stamina

4. Attention

Question ID : 65497829431
Status : Not Answered
Chosen Option : --
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

You (1) that tomatoes and processed tomato products protect (2) some types of
cancer. The cancer-preventing properties of tomato products have been (3) to lycopene.
It is a bright red pigment found in tomatoes and (4) red fruits. Processing of tomatoes
increases the (5) of lycopene.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.

Ans 1. may hear
2. are going to hear
3. will hear

4" 4. may have heard

Question ID : 65497829451
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

You (1) that tomatoes and processed tomato products protect (2) some types of
cancer. The cancer-preventing properties of tomato products have been (3) to lycopene.
It is a bright red pigment found in tomatoes and (4) red fruits. Processing of tomatoes
increases the (5) of lycopene.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans 1. for

" 2. against
3.as

4. by

Question ID : 65497829452
Status : Not Answered
Chosen Option : --
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

You (1) that tomatoes and processed tomato products protect (2) some types of
cancer. The cancer-preventing properties of tomato products have been (3) to lycopene.
It is a bright red pigment found in tomatoes and (4) red fruits. Processing of tomatoes
increases the (5) of lycopene.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans o 1. attributed

2. offered
3. allotted

4. formed

Question ID : 65497829453
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

You (1) that tomatoes and processed tomato products protect (2) some types of
cancer. The cancer-preventing properties of tomato products have been (3) to lycopene.
It is a bright red pigment found in tomatoes and (4) red fruits. Processing of tomatoes
increases the (5) of lycopene.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans 1. another

2. new
«# 3. other

4. same

Question ID : 65497829454
Status : Not Answered
Chosen Option : --
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

You (1) that tomatoes and processed tomato products protect (2)
cancer. The cancer-preventing properties of tomato products have been (3)
It is a bright red pigment found in tomatoes and (4)
increases the (5) of lycopene.

some types of
to lycopene.
red fruits. Processing of tomatoes

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans 1. application

¥ 2. concentration
3. persistence

4. attention

Question ID : 65497829455
Status : Not Answered
Chosen Option : --

Section : Part D Hindi

Q.1 fF=fafla d | 3z ad- arer g F arg?
Ans 1. THIUTh

o 2. umHTos
3. urHTofieR
4. yoroftes

Question ID : 65497829467
Status : Answered
Chosen Option : 4

Q.2 A M gt | Y@iford sizr &t ufaruia o=t & g T Iugeh faeey o1 99+ &1
T AT GHT 3T ATI
Ans o 1. T
2. 9=
3. theh

4. 7T

Question ID : 65497829469
Status : Answered
Chosen Option : 1
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